Economic Hardships: The Search for Stability  
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HR:

SEEING THE SEQUENCE OF EVENTS:  Use information from Ch. 23-4, pp. 732-737 to put the following events related to the Russian Revolution in order, where a “1” represents the earliest event and a “9” represents the latest.

Steps to Communist Control

___
Having lost the support of the army, Czar Nicholas II steps down, ending the 300-year-old Romanov dynasty.
___
Hoping to create disorder in Russia, German military leaders ship Lenin to Russia.  

___
The Communists are in total command of Russia.

___
Communist regime defeats the White forces, taking back Ukraine, Georgia, Armenia, Azerbaijan. 

___
Lenin signs the Treaty of Brest-Litovsk with Germany, ending WWI in the east.

___
Bolshevik forces seize the Winter Palace, overthrowing the provisional government.

___
Conservative aristocrats assassinate Rasputin in the hope of saving the monarchy.

___
The government rations bread in Petrograd in an attempt to control inflation.

___
Angry female protesters successfully initiate a strike, shutting down all the factories in Petrograd.

EXAMINING THE EVIDENCE:  Find specific examples or “evidence” from Ch. 24-1, pp. 751-756 that represent the ideas below.  Make sure that you provide 2 different examples for each.      

	Evidence of a failed peace

	Evidence of economic trouble 



	Evidence of political upheaval 

· 
	Evidence of economic recovery

· 


Gross domestic product, or GDP refers to the total market value of all final goods and services produced within the borders of a country in one year. Final goods and services are newly produced goods that have reached their last consumer. They won’t be resold to anyone else. A common equation for GDP is: GDP = consumption + investment + exports-imports. Because the GDP is the value of a country’s total output, it is often used to gauge the economic health of the nation. GDP per capita is GDP divided by the population and indicates the average standard of living in a country.
Directions: Analyze the GDP per capita figures for each country to answer the questions below.

[image: image1.png]GDP Per Capita in International Dollars

France India | Malaysia | Chile Mexico | USSR Germany | U.S.
1929 14,710 728 1,682 3,396 1,757 | 1,386 4,051 6,899
1930 | 4,532 726 | 1,636 3,143 1,618 | 1,448 3,973 6,213
1931 4,235 711 1,548 2,333 1,643 1,462 3,652 5,691
1932 | 3,959 709 | 1,397 2,274 1,373 1,439 3,362 4,908
1933 | 4,239 700 | 1,440 2,652 1,501 1,493 3,556 4,777
1934 14,192 697 | 1,540 2,987 1,574 | 1,630 3,858 5,114
1935 | 4,086 680 | 1,364 3,056 1,660 | 1,864 4,120 5,467
1936 | 4,244 697 | 1,478 3,056 1,768 | 1,991 4,451 6,204
1937 | 4,487 676 | 1,308 3,241 1,796 | 2,156 4,685 6,430
1938 | 4,466 668 1,361 3,139 1,794 | 2,150 4,994 6,126
1939 14,793 674 | 1,609 3,178 1,858 | 2,237 5,406 6,561

Source: OECD, 2003.





INTERPRETING THE DATA:

1. On the whole, when did most countries hit bottom during the Great Depression?

2. Which country experienced the steepest decline in living standards?

3. Unlike all the others, one country experienced a steady increase in GDP per capita during the Great Depression.  Which country was it?  Hypothesize why this occurred.

4. Using information from Ch. 24, find out why Germany made such a strong recovery after 1932.

5. What additional statistics might be helpful when trying to understand the economic health of a nation?
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